
Flame Heater Item#: KLD7003SF

Model #:  PH-100100 BK/GY  

TM/MC

Questions, problems, missing parts? 

(8 ) – Friday   a.m. –  p.m., ST
c @

FOR YOUR SAFETY: 
If you smell gas:

 Shut off gas to the appliance.

 morf yawa peek ,seunitnocruodO fI 
the appliance and immediately call your 
gas 

DANGER indicates an imminently 
hazardous situation which, if not avoided, 
will result in death or serious injury.

Failure to comply with the precautions 
and instructions provided with this heater 
can result in death, serious bodily injury 
and property loss or damage from 
hazards 

and/or carbon monoxide 
poisoning. Only persons who can 
understand and follow the instructions 
should use or service this heater.

Do not store or use gasoline or other 

vicinity of this or any other appliance.  
An LP-cylinder not connected for use  
shall not be stored in the vicinity of this 
or any other appliance.

Improper installation, adjustment, 
alteration, service or maintenance can 
cause property damage, injury or death. 
Read the installation, operation and 
maintenance instructions thoroughly 
before installing or servicing this 

FOR OUTDOOR USE ONLY!

Keep a copy of your proof of 

which will be needed if you need 
to contact us about warranty 
coverage.

Serial No. 

Purchase Date 

This product can expose you to chemicals 
including Lead, Chromium (hexavalent 
compounds), Di(2-ethylhexyl) phthalate (DEHP) 
and Diisononyl phthalate (DINP), which are known 
to the State of California to cause cancer and birth 
defects or other reproductive harm. For more 
information, go to www.P65Warnings.ca.gov.

+

_

Electronic ignition.
. .yrettaB AA )1( seriuqeR

(Not Included)

Instruction Manual



BEFORE YOU BEGIN

Patio

Heater.

+

_

NOTE: Electronic ignition. Requires 1 (AA) battery.
 (Not Included)

19

18

20

3-5

6

7

8-12

2

13-17

TM/MC



EXPLOSION—FIRE HAZARD
•  Keep solid combustibles, such as building 

materials, paper, or cardboard a safe 
distance away from the heater as
recommended by the instructions.

•
openings into the combustion chamber.

•  Never use the heater in spaces which do 
or may contain volatile or airborne
combustibles, or products such as 
gasoline, solvents, paint thinner, dust 
particles, or unknown chemicals.

• During operation, this appliance can be a 
source of ignition. Keep heater area clear 
and free from combustible materials, 
gasoline, paint thinner, cleaning solvents 

Do not use heater in areas with high dust 
content. Minimum heater clearances from
combustible materials: 3 feet 36 inches 
from top and 2 feet 24 inches from sides.

•  Never store propane near high heat, open

ignition sources  or where temperatures 
exceed 120  F (49  C).

•  Propane vapors are heavier than air and 
can accumulate in low places. If you smell
gas, leave the area immediately.

• Never insta l or remove a propane 
cylinder 

lights, or other ignition sources 
or while heater is hot to the touch.

• This heater is red hot during use and can 

from top  sides. 
and 

vapors well away from heater.
• Store the propane cylinder outdoors in a 

well ventilated space out of the reach of 
children. Never store the propane cylinder 
in an enclosed area (house, garage, etc.). If 
heater is to be stored indoors, disconnect 
the propane cylinder for outdoor storage.

BURN HAZARD
• Never leave heater unattended when hot 

or in use.
• Keep out of reach of children.

SERVICE SAFETY
•

sure propane cylinder valve outlet is clean.
•  During set up, check all connections and 

•  Use as a heating appliance only. Never 
alter in any way to use with any device.

Certain materials or items, when stored 
under the heater, will be subject to radiant 
heat and could be seriously damaged.

• This product is fueled by propane gas. 
Propane gas is invisible, odorless, and 

to 
help detect leaks and can be described as 
having a “rotten egg” smell. The odorant can 
fade over time so leaking gas is not always 
detectable by smell alone.

•  Propane gas is heavier than air and leaking 
propane will sink to the lowest level 
possible. It can ignite by ignition sources 
including matches, lighters, sparks or 

from 
the original leak. Use only propane gas set 
up for vapor withdraw l.

• Store  use propane gas in compliance 
with local ordinances and codes or with 
ANSI/NFPA 58. urn off propane 
when not in use.

•  Alert children and adults to the hazards
of high surface temperatures. Stay away
from these surfaces to avoid burning
skin or igniting clothing.

•  Carefully supervise young children when in 
the vicinity of the heater.

•  Do not hang clothing or any other 
or 

place near the heater.
•  Replace any guard or protective device 

removed for servicing the appliance prior to 
placing back in service.

•  Installation and repair should be done by a 

be inspected before use  and annually 
b  

imperative that the control compartment, 
burners, and circulating air passageway of 
the appliance be kept clean.

CARBON MONOXIDE HAZARD
• This heater is a combustion appliance. 

All combustion appliances produce carbon 
monoxide (CO) during the combustion 
process. This product is designed to 
produce extremely minute, non-hazardous 
amounts of CO if used and maintained 
in accordance with all warnings and 

or 
out of the heater.

•  Carbon Monoxide (CO) poisoning produces 

dizziness, fatigue, and possibly death. 
You can’t see and you can’t smell it. It is 
an invisible killer. If these symptoms are 
present during operation of this product, get 
fresh air immediately!

• For outdoor use only.
• Never use inside house or other unventilated

or enclosed areas.
• This heater consumes air (oxygen). Do not 

use in unventilated or enclosed areas to 
avoid endangering your life.

WARNING indicates an imminently 
hazardous situation which, if not avoided, 
will result in death or serious injury.

This appliance can produce carbon monoxide 
which has no odor. Using it in an enclosed 
space can kill you. Never use this appliance 
in an enclosed space such as a camper, tent 
or home.

CAUTION indicates an imminently 
hazardous situation which, if not avoided, 
may result in minor or moderate personal 
injury, or property damage.

SAFETY INFORMATION

3

TM/MCTM/MC



SAFETY INFORMATION

WARNING
• 

• THIS UNIT IS INTENDED FOR OUTDOOR USE ONLY! This product shall be used outdoors, in a 
ventilated space and shall not be used in any enclosed area. 

• This unit is to be used with propane gas only! (sold separately) 
• Do not attach a remote gas supply to this unit. 
• Only use propane gas for this unit.
• This unit is not intended for natural gas.
• Converting this unit to natural gas is dangerous and not recommended. The conversion of this unit 

will void the manufacturer warranty.
• Do not use any solid fuel or charcoal for this unit.
• If the propane gas tank is leaking gas, you may hear, see, or smell a hiss. Do the following: 

•  Applying too much propane may result in gas pooling and will not burn. Allow fresh air into the unit 
so that the remaining gas may escape. 

• 
• The max. inlet supply pressure: max. Gas supply 11 in w.c. (2.74kPa)
• Use LP propane tanks with the following dimensions: diameter 12 in, height 18 in.
• You must use a propane tank that has a collar to protect the gas valve.
• 
• The tank system must be set up for vapor withdrawal. 
• Discontinue use if any part of the propane tank is damaged. Rust and dents may be hazardous and 

should be inspected by a gas supplier. 
• Do not burn anything other than the provided materials for this patio heater.   
• Do not operate unit until all parts are fully assembled.
• Do not paint or color any part of this heating unit.
• Unit may be hot while in use, do not attempt to move it while in use.
• This unit is not intended for cooking.
• 
• Keep a safe distance to avoid burning skin or clothing. 
• Do not sit or rest hands or feet on this heating unit. 
• 
• Keep all electrical cords and fuel supply hose away from heated surfaces.
• Combustible material should not be within 48 inches of the top of the unit, or within 48 inches 

around the entire unit. 
• 

vapors and liquids.
• 

• Do not add water into the unit. 
• Do not operate unit if any part has been under water. Call a service technician to replace any 

 The installation of this unit must adhere to local codes or Propane Storage and Handling Code, 
CSA B149.2.

4

damaged parts should this occur.

TM/MC



• Do not disconnect any part while unit is in use. 
• Do not store a spare propane tank on or near this unit.
• If the heating unit is indoors, detach the propane tank and leave outdoors. 
• 
• Always remove protective cover before operating (if applicable).
• Check for leaks after not using the unit for long periods of time. 
• Children should never operate this unit. Children must be supervised while near this unit.
• Keep gas tank at least 5 feet away from unit when lit. (if external tank)
• The maximum gas supply pressure is 250psi.
• 

inspected annually and cleaned regularly.
• Inspect all elements of this heating unit before each use. If there is damage, the burner must be 
replaced.  
• Be aware of the hazards of high temperatures and stay away from the unit to avoid any burns or injury. 

• 
of the U.S. Department of Transportation or the National Standard of Canada CAN/CSA-B339, LP gas 
tanks, spheres and tubes for Transportation of Dangerous Goods; and Commission. 
• The LP gas tank must have a listed overflling prevention device and a QCCI or Type I, (CGA791) LP 
gas tank connection.
• 
• Children and adults should be alerted to the hazards of high surface temperatures and should 
stay away to avoid burns or clothing ignition.
• Young children should be carefully supervised when they are in the area of the appliance.
• 
near the appliance.
• Any guard or other protective device removed for servicing the appliance shall be replaced 
prior to operating the appliance.
• 

may be required as necessary. It is imperative that the control compartment, burners and 
circulating airways of the appliance are kept clean. 
 
Only use the regulator and hose assembly provided with this unit. 

 
Inspect the burner before use of this unit. If the burner shows any kind of damage, do not operate 
the appliance. 

 
 
NOTE: You must follow all steps to properly assemble this heating item. Make sure the gas 
valve is turned “OFF” before assembling. Do NOT attempt to assemble without proper tools.

BE CAREFUL: WHEN CERTAIN MATERIALS OR 
ITEMS ARE STORED ABOVE, BESIDE OR UNDER 
THIS HEATER WHILE IN USE, THEY WILL BE 
SUBJECT TO RADIANT HEAT AND COULD BE
SERIOUSLY DAMAGED. 

Combustible materials should not be within 
inches of the top of the unit, or within      inches 
around the entire unit.

48
48

48"

48"

SAFETY INFORMATION

48"

TM/MC



®PACKAGE CONTENTS

A

B

D

C

R
H

E

I

M

J

K

K

KL L

F

G
N

O

P
Q

TM/MC



®

7

PACKAGE CONTENTS

AA

DD 

     GG

CC       

EE         FF

BB

+

_

Electronic ignition.
. .yrettaB AA )1( seriuqeR

(Not Included)

M8x16 Bolt
QTY:2PCS

M6x12 Bolt
QTY:6PCS

M5x10 Screw
QTY:24PCS

M6x12 Screw
QTY:6PCS

M6x35 Screw
QTY:1PCS

M8 Nut
QTY:2PCS

M6 Nut
QTY:4PCS

Cap

TM/MC



Attach Wheels Assembly (O) to Tank Assembly (N).
Align holes in Wheel Assembly with corresponding 
holes in base and insert 2x M8x16 Bolt (AA) 
through each hole,tighten it with 2x M8 Nut (BB) .
Be sure that wheel assembly is parallel to base 
and fully tighten the bolts. 

Attach Anchoring Arm (P) to base of Tank Assembly
(N) with 6x M6x12 Bolt(CC).After Heater assembly 
is complete,anchor the unit to the ground by 
inserting Anchoring Pin (Q) through the hole in each 
anchoring arm (P) and into the ground.

AA M8x16 Bolt 2x

BB M8 Nut 2x

CC M6x12 Bolt 6x

N

P

O

CC BB

AA

TM/MC

ASSEMBLY



Attach the Upper rod (E) bottom to Lower Rod 
(F) top (2x M6x12 screws preassmbled on top),
make sure the upper rod bottom hole go through 
the preassmbled screws,then tighten the bolts.
Repeat other 2 sets Upper/Lower Rods. 

Attach the Rods assembly to the Tank assembly 
(N) top. Make sure the rod assembly bottom go 
through the preassembled M6x12 screws,tighten 
the screws. 

E

F

N

TM/MC

ASSEMBLY



10 

Carefully place the Glass tube(M) onto the Tank 
assembly (N)

Attach the Lower protection Guards (I) onto the 
Rods assembly. Pay attention Fix Plate (K) on 
the left side,Fix plate (L) on the right side.Fix 
with M5x10 Screws (EE). Donot tight the upper 
bolts,leave it next step.

Attach the small Fix plate (J) onto guards with 
M5x10 screws (EE). Repeat other 2pcs Lower 
protction guards.

EE M5x10 Screw 18x

EE

NOTE: Do not tighten the upper 
bolts; leave it to the next step.

N

K

J

L

I

M

TM/MC

ASSEMBLY



Attach the Upper protection guards (H) on to the rods 
assembly. Make sure the bottom side wire go into the 
fix plate (K/L) hole. Tighten the screws.

Attach the small Fix plate (J) onto guards with M5x10 
screws (EE). Repeat other 2 pcs Upper protction guards.

Attach the 3x Studs(D) onto the top of Emitter Screen (R),
Locate the Upper plate (C) onto the studs and tighten with
3x M6 Nuts (GG).

Place the Emitter screen assembly onto the glass tube.
Align the holes with corresponding holes on the rods top.

EE M5x10 Screw 6x

GG M6 Nut 4x

H

J

K

H

D
Q

C

EE

GG

TM/MC

ASSEMBLY



Attach the Reflector Cap(A) onto Reflector (B) 
with 1x M6x35 Screw (FF) and 1x M6 Nut (GG).

Attach the Reflector assembly onto Emitter 
screen assembly, align the holes with 
corresponding holes on the top,fix them with 
6x M6x12 Screws (DD).

Hook the chain (G) into the holes in the Tank 
assembly (N).

DD M6x12 Screw 6x

FF M6x35 Screw 1x

GG M6 Nut 1x

B
A

G

FF

GG

DD

N

TM/MC

ASSEMBLY



13

a

NOTICE

TM/MC



14

TM/MC



 

adjustment of propane gas. Storage of an appliance indoors is permissible only 

if the cylinder is disconnected and removed from the appliance. A cylinder must 

be stored outdoors in a well-ventilated area out of the reach of children. A 

disconnected cylinder must have dust caps tightly installed and must not be 

stored in a building, garage, or any other enclosed area. The minimum 

a 

heater for automatic operation rating less than full input rating.

The pressure regulator and hose assembly supplied with the appliance must be 

used.

The installation must conform with local codes, or in the absence of local 

codes, with national fuel gas code, ANSI Z223.1/NFPA54, natural gas and 

propane Installation Code, CSA B149.1, or propane storage and handling code, 

B149.2 

A dented rusted or damaged propane cylinder may be hazardous and should 

be checked by your local cylinder supplier. Never use a propane cylinder with a 

damaged valve connection. The propane cylinder must be constructed and 

Department of Transportation (DOT) or the standard for cylinders, spheres and 

tubes for transportation of dangerous goods and commission, CAN/CSA-B339.

The cylinder must have a connection device compatible with the

connection for the appliance.

The cylinder used must include a collar to protect the cylinder valve.

Never connect an unregulated propane cylinder to the heater.

Do not store a spare LP-

gas cylinder under or near

this appliance.

beyond 80 percent full.

Place the dust cap on

the cylinder valve outlet

whenever the cylinder is

not in use. Only install the

type of dust cap on the

cylinder valve that is

provided with the cylinder

valve. Other types of caps

or plugs may result in

 leakage.

15

TM/MC



 16

TM/MC



 17

TM/MC



CARE AND MAINTENANCE

18

TM/MC

TM/MC



TROUBLESHOOTING

SolutionCauseProblem
The burner will not light. The burner injector is clogged. Clean the burner injector.

There is low gas supply pressure. Call your gas supplier.

The burner flame goes off 
immediately after ignition.

There is low gas pressure. Call your gas supplier.

The ignition is delayed. The main burner carryover ports are 
clogged.

Clean the main burner ports.

There is low gas pressure. Call your gas supplier.

The combustion on the burner is 
inadequate.

There is not enough air. Check the air passageways and burners 
for dirt and debris, and clean with 
compressed air.

The burner flame is low. The supply hose is bent or twisted. Straighten the hose and perform a leak 
test.

There is blockage in the burner 
injector.

Clean or replace the burner injector.

The emitter glows uneven. There is blockage in the burner 
injector.

Clean or replace the burner injector.

The base is not on a level surface. Place the heater on a level surface.

The gas pressure is low. Replace the cylinder with a new 
cylinder.

There is slight smoke and odor 
during initial operation.

This is residue from the 
manufacturing process.

This will stop after approximately 30 
minutes of operation.

There is thick black smoke. There is blockage in the burner. Turn off the heater and let it cool. 
Remove the blockage and clean the 
inside and outside of the burner.

The heater produces a whistling 
noise when the burner is lit.

Air passageways are blocked. Check the minimum installation 
clearances and air passageways for 
debris.

There is air in the gas line. Operate the burner until the air is 
completely purged.

The heater produces a clicking 
noise just after the burner is lit 
or turned off.

The metal is expanding and 
contracting.

This is common with heaters. If noise is 
excessive, contact a qualified service 
person.

There is a gas odor even when 
the control knob is in the OFF 
position.

There is a gas leak. Locate and correct the leak 
immediately.

The gas control is defective. Replace the gas control.

There is a gas odor during 
combustion.

There is foreign matter in the gas or 
on the burner ports.

Check the gas passageway and burner.

The heater is burning vapors from 
paint or impurities in the air.

Stop storing and using odor causing 
products near the heater.

There is gas leaking from the 
regulator and hose connection, the 
valve and pipe connections, and the 
pipes.

Locate and correct the leaks, or contact 
your gas supplier.

There is carbon build-up. There is dirt or film on the reflector 
and flame screen.

Clean the reflector and flame screen.

19

Dead igniter battery.

TM/MC



- 20 -


